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Q.No.1

MODEL PAPER FOR 2024 and Upcoming Examinations
Intermediate Part Second

ENGLISH ( Objective )
Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the

Time: 30 Minutes

objective type question paper and leave other circles blank.
Choose the correct option of the underlined words from the columns A, B, C and D and fill up the bubbles:

relevant circle in front of that question number on computerized answer sheet. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions as given in

S.# Questions A B C D
1 Some undefeated remnants of the Ottoman Enemies | Opponents Remains Favourite
Army began to obstruct the Allies.
2 | Lister was medical peer of Pasteur. Fellow For Enemy Teacher
3 | Later the holidays were reduced to a fortnight. | One week | Tendays | Two weeks | Midnight
4 | In the past, city streets were full of garbage. Valuables | Rubbish |[Merrymakings Fujr:);nd
5 I(fi:et::euignh;.[ ttsh;togf \X?Sliﬁtffgiﬁqg. from liver Desirable Pleasant Weak Fatal
6 gﬁ?sa has evaded the blind expansion of the Electricity [Development| Contraction Spread
" ”Slgloe Vf(églﬁl'ation is increasing like a gigantic Small Splendid Miniature Big
The manager was a grave, calm man. Bald Rash Serious Idiot
Scores of books were lying there Plenty of Short of Brief of Sale of
10 | A star seldom finds another anywhere. Often Frequently Quickly sometimes
Choose the correct option for the following blanks from the columns A, B, C and D and fill up the bubbles:
S.# Questions A B C D
11 | He was alarmed the news. From By At With
12 | He is suffering Malaria. In With From By
13 | He is partial his friends. With For To At
14 | The thief was charged theft. With For At Through
15 | Can’t you give smoking? On Over Up In

Choose the correct sentence from each of the grouj
She bought two dozens bananas.

She bought two dozen bananas.

B | She buys two dozens bananas.

C | She have bought two dozen bananas.
She bought two dozens banana.

16

18

20

A

D

Either he or his brother were suffering

from fever.

A

Either he or his brothers were
suffering from fever.

B | Either he or his brother shall be
suffering from fever.

C | Either he or his brother suffers from

fever.

Either he or his brother was
suffering from fever.

The night is too cold.

The night is very cold.

The night is too much cold.

The night is too many cold.

~lell--1Fg

The night is much cold.

ps and fill up the bubbles:

17 | He is senior than me.
A | He is senior than I.
B | He is more senior to me.
C | He is senior than mine.
D | He is senior to me.

19 | He is M. A in English.
A | He is a M. A in English.

B | He is an M. A in English.

C | He is the M.A in English.

He is an M. A in the English.




